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Mathematics (Objective) Group I Paper (I)
Time Allowed:- 30 minutes PAPER CODE 2191 Maximum Marks:- 20

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or

white correcting fluid is not allowed. Q.1
1) The modulus of Complex number 4 + 5i is
@A) Ja1 @ (B) ~41 ©) 31 (D) -+31

2) Multiplicative inverse of (2, 0) is

A B C D

@ (14,0) @ ®) (14, -2) © (17, 0) ()[_%’0)
3) If Ac B,then A B equals

(A) B B)A @ ©) 4 (D) B
4) Disjunction of two Logical statements p and q is @
(A) PVY (B) Prg (C) pV@Q (D) PMq

5) The solution of linear equation ax =b where %,@OIS

(A) x=ab B) x=ab™ %@%) x=a'b" D) x=a'p ®
1 2 -3 @
6) It A=| 0 -2 0|, then AjyWitPhe

-2 =2 1
A) 1 )3 )2 ® (D) 2
7) For square matrix A, if A'=A , then A is called
(A) Symmetric Matrix@ (B) Skew Symmetric — (C) Skew Hermitian (D) Hermitian Matrix

Matrix
8) The product of four fourth root of unity is

(GYR (B)-1@ SV (D) 4

9) if @ and B are roots of 7x’ —x—2=0, then a + f will be

A - Y ®) ¥ ® © % ) -%
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D) 5

(D) 20 @
(D)3 @

(D) P(E)-1

(D) | x|< -3

(D) 9

2
10) Rational fraction x—fﬁﬁ will be improper fraction if degree of Q(x) is
X

(A) 3 (B)4 ©2 @
1)Ifinan A.P. g =11, a, =68, d =3, then n will be equal to

(A) 30 (B) -20 (C) -30
12)1£3,9,27,... are in G.P. thenr =

(A) 1 (B) 2 (C) 4
13) The probability of non-occurrence of event Eis

(A) 1+P(E) (B) 1-P(E) @ (C) 1+P(E)
14) The expansion (1 - 3x)y2 will be valid if

] Q@
(A) |xl<—- (B) |x|<3 <§§>}>~ <5 ®
28
15)lfc0t6=7 . 0<0<Z | then co 2@%
SR\
~29 4 <o 29

&) —= ®) A © @
16) sin(@ +270°) =

(A) sind (B) ~-sin@ (C) cosd

17) Period of sin g is

(A) 67 @ (B) 3» (C€) -67
18) 448
abc
1 1
(A) — @ (B) ~ (© R
R r
19) cos (2 sin™! x) will be equal to:
(A) 2x* -1 (B) 1+ 2x? (C) 2x+1
20) Reference angle always lies in quadrant
(A) 11 B)1® O m

1125 -- 1124 — 11000 (1)
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11th Class Mathematics Subjective Paper Group 1 Sargodha Board 2024

1124 Warning:- Please, do not write anything on this question paper except your Rolil No. akcitv.or A
Mathematics (Subjective) (Session 2020-22to 2023-25)  Paper (I) paKcity. 9?
Time Allowed: 2.30 hours (Inter Part-1) Groupl Maximum Marks: 80
Section ----------=-remm- |
2. Answer briefly any Eight parts from the followings:- 8 x2=16
(i) Prove that 948 = e 08
b d bd
(ii)  Find the multiplicative inverse of (-4, 7) (iii) Factorize 9a’ +16b°

(iv) Prove that product of any two conjugate complex numbers is a real number.

(v) Showthat A-Bc AN DB
(vi) L.ek LG > '>be a group and a, b € G, then prove that (a- by'=b"q’

1 -2 3
(viiy If A=|-2 3 11, thenfind 4, and 4,
4 -3 2
(viii) Given /\:‘ and B are two non singular matrices, show that (4B)™ = B™' 4"
Gx) If 4= ; H-;} . then find A—(4) (x) Fi@ﬁ)@urth roots of unity.

> 0
(xi)  When x*> +2x* + kx + 4 is divided by x -2, th@%ﬁﬁ inder is 14. Find value of k

(xii) Show that the roots of equation Xt — 2@ x+3 =0 are real where m=#0
m ]

<&
3. Answer briefly any Ei rts from the followings:- 8 x2=16
(i) Resolve C;l;)g;f) into partial fraction (11) Define conditional equation.
(i) Determine whether -19 is term of AP {7.13,9, (iv) Find geometric mean between —2i and 8/

(¥)  Sum the infinite geometric series 44+ 232 +2 442 +...
, .. th & 121 - 10
(viy Find 127 term of H.P =, — . —, .. (vii) Evaluate "p,
39 6
(viits  How many ways can 4 keys be arranged on a circular key ring.

(ixy  Tiow many dragonals can be formed by joining vertices of 5 sided figure

y e
/ i
o ; . 3 . =3
i~y bxpand l.x -1 - - (xiy Expand upc four terms (L4 x)
A
| . ‘ . . 3 A
(xii) Find term involving x° in expansion of & e |
N ‘..)C}
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4. Answer briefly any Nine parts from the followings:- 9 x2=18

(i)  Express 75° in radians. (ii) Prove that _Sin® ., ot6 = cosech
1 +cosé

(iii) If @, 3,y are angles of a triangle, then prove that cos(—a—-g—ﬁ) = sin{-

(iv) Without using calculator, find the value of tan 105°

(v) Prove that l:fﬂ%ﬁ ~tanZ (vi)Write the domain and range of y = cosx
sina
(vii) Define periodicity. (viii) Find the period of 3cos§-

(ix) Atthetopofacliff80m high, the angle of depression of a boat is 12°. How far is the boat from the

cliff?
(x) Find area of a triangle ABC inwhicha=18 , b=24 , ¢=130

(xi) Show that r, = stan g

(xii) Show that cos(sin™ x) =1 - x (xiii) Solve the equa&gﬁ@cosx =0 for general solution.
Section --------- %O
Note: Attempt any three questions. 0%{& (10 x 3=30)

(b) Solve the system of equati

4

6. (a) Resolve E—x»—‘,- into Partial Fractions.
-X
(b) The AM oftwo positive integral numbers exceeds their (positive) G.M by 2 and their sum is 20,

find the numbers.
7. (a) Prove that e, 0 =G,

~ 2 3
(by Ify= l+ 1-1’(—1) + ]‘3’5(—!-\ + ... then prove that Yy +2y-2=0
3 21\3 3 \3)

8. (a) Reduce cos'® to an expression involving only function of multiples of @, raised to the first
power.
(b) Provethat n+n+r—r= 4R

9 (a) Prove that \/T~ an_ﬁ_ = secd — tan @, where @ is not an odd multiple of z
1+siné 2
77 . .3 415
— —sin” = = COs" -
5 17

(by Prove that sin”'

1126 -- 1124 - 11000

Page 29 of 44 Please visit for more Download PDF at: www.pakcity.org



11th Class Mathematics Objective Paper Group 2 Sargodha Board 2024
1124 Warning:- Please write your Roll No. in the space provided and sign. Roll No

( Inter Part —1I) (Session 2020-22 to 2023-25) Sig. of Student -—--emceeeeenen
Mathematics (Objective) (Group-II) Paper (I)
Time Allowed:- 30 minutes PAPER CODE 2198 Maximum Marks:- 20

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or
white correcting fluid is not allowed. Q.1

1) The transpose of a rectangular matrix is a

(A) Square matrix (B) Diagonal matrix (C)’(ectangular matrix (D) Scalar matrix
2) l-w+0’ =
(A) -1 B)o ©€) ~w D) -20 @

3) The quadratic equation with-roots 3—-+/3 , 3+4/3 is

(A) x* +4x+1=0 (B) x* -4x+1=0 €C) x-6x+6=0@® (D) x’-6x-6=0

@e R

4) The reflexive property of equality of real numbers is that }/ (A

(A) a=a @ (B) a#a (g)&%%@ (D) a>a
5 |Z[=

(A) 72 B)zZ @ @
O

6) {x|xeN, x<10} is the
(A) Discriptive method (B)

(C) 7? (D) z

[
ar method (C) Set builder method (D) Non-discriptive method
7) p:4<7,q:6>11, thedisjunction pvg is

(A) False (B) True @ (C) Not valid (D) unknown
8) The identity element of a set X with respect to intersection in P(X) is
(A) 0 (B) ¢ (C) Does not exist ORE

9) lfA=[x 1} and —1—=7, then x =
11 |A]
8 7 9
° @ - e D) 7
(A) - (B) 2 ©) - (D)

P.T.0 1127 - 1124 -- 11000 (4)
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)=
10) nrr=
(A) Rr? (B) rR? (C) RS?
11) 2cos™ A=
(A) sin'{24° -1} (B) sin™'{4* -2} (C) cos™' {24’ -1}@
12) cosx=—% and x €[0,7] then x =
3r Sw V4
— =5 2@
(A) 2 (B) 2 © 2

13) (x—-4)’ =x* -8x+16 is
(A) A linear equation  (B) Cubic equation (C) An equation

(D) yS e

(D) cos™' {4’ -2}

-

(D) oy

(D) An identity @

14) A number A is said to be the arithmatic mean between two @rs aandbif a,A,bis

(A) GP (B)AP @ (© HEO)
15)Ifa=3, r=2 then nth term of the G.Pis 0%@\3\9
A) 32 @ (B) 2.3™ %5@ (C)32"
16) n(n-D)(n—-2)(n-3)..(n~r+1)= @@
O

2!

!
(A) n'r! B : (8] T

17)The sum of the odd coefficients in the expansion (1+ x)® is

A4 @ (B) 8 ©) 12
18) 120°= radians
3z 2n z
(A) EX (B) "3‘" ©) A
19) 25in2(9—!-) =
2
(A) 1+sina (B) l-sina (C) 1l+cosa

20) The range of sinx is

A [1,1] ® ®) 1, [ © M
1127 - 1124 -- 11000 (4)
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(D) Not a sequence

(D) 3.2™"

(D) »!

(D) 16

(D) 1807

(D). 1-cosa @

D) 1-1,1]
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1124 Warning:- Please, do not write anything on this question paper except your Roll No.

Mathematics (Subjective) (Session 2020-22 to 2023-25) Paper (1)
Time Allowed: 2.30 hours (Inter Part-I) (Group-II) Maximum Marks: 30
Section -----mmmmceemeen 1
1 Answer briefly any Eight parts from the followings:- 8 x2=16
il
(i) Prove the rule of addition §+§ w2 b;bc

(ii)  Separate real and imaginary parts (iii) Find the multiplicative inverse of —3—5i

4+5i
(iv)  For any complex number z & C, prove that z-z =| z|*

(v) IfS=1{0,1,2},thenshow that$ is an abelian group under addition.

(vi) Construct the truth table of the statement (p A~ p) — g

5 -2 5
(viiy It B=f 3 -1 4| ,then find B, and B,;.
-2 1 =2
(viii) If A is symmetric or skew-symmetric, show that Alis symm
: : . 5 2 (-1 5 @
(ix) Find the matrix X if X = S
—2 1] |12 3] @

9
(x)  Show that the product of all the three cube t %nity is unity.

(xi) If @,f are the roots of x* — px—p —crove that J+a)(1+f)=1-¢

(xii) Solve the equation x* —6x* +8= -

3. Answer briefly any Ei 'ts from the followings:- 8 x2=16

(i)  Define a Rational Fraction"with example.

3x* —4x -5

(ii) Resolve into partial Fraction without determining the constants ; :
(x=2)(x" +7x+10)

@iy If —1~,~1— and l are in A.P, show that b = 2

a b c a+c

(iv) If S, =n(2n+1), then find the series

(v)  A.M between two numbers is 5 and their positive G.M is 4. Find the numbers.
(vi) If'5is Harmonic Mean between 2 and b. Find b (vii) Find the value of n, when "B, : "', =9:]

(viii) A die is rolled, what is the probability that the top shows dot 3 or 4.

(ix)  Find the number of the diagonals of a 6 - sided figure.  (x)State the principle of Mathematical induction.
,\'(,

(xi)  Prove the formula 2+4-+6+...2n = n(n+1) (xii) Find the general term of [ % - EJ
a

1128 - 1124 - 11000 P.T.0
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4. Answer briefly any Nine parts from the followings:- 9 x2=18
(i)  State fundamental identities. (ii) Verity that sin’ % :sin’ —;i :sin? —i—; 'sin’ % =]12:3:4

(iii)  Prove that c0s330°sin600” +cos120°sin150° =-1 &
cotacot f—1
cota +cot 3
(vi)  Write down the Domair: and Range of secant function. (vii) Find the period of tan4x
(viii) Draw the graph of y=sinx from Oto 7

(ix) Define the angles of elevation and depression. (x) What do you mean by oblique triangle.

(iv) Show that cot(a+ f5) = (v) Prove that sin(a + ) —sin(a - f) = 2cosasin

(xi) By using law of cosine, find @ when a=7, b=3,¢c=5
(xii) Prove that sin” x= % ~cos™ x

i e B 1
(xiii) Solve the trigonometric equation cot” @ = =

NTTHT 1) | E— 1X

Note: Attempt any three questions. Q® (10 x 3=230)
@ 3% +x, %, =4
5. (a) Use Crammer’s Rule to solve the systems of ng Jations AL R 2x3 -4

—-x, +2x,~x; = 1
(b) Find the values of ¢ and b if -2 am@&% roots of the polynomial x* —4x? +ax+b
@ Px+2

<3>)Yx + l)(x 1)

[t

(a) Resolve into partial fractions

(b How many terms of the 9-6-3+0+..... amount to 667
7. {a) Vind values of n and Vs, W, wa¥ab:11
. e l 1.3 1 1354 2 3
(b)y If 2y=-= —?7 ,27+_3' —i;+ ..... then prove that 4y 'i—4) 1=0
l

8. (a) Provethat sinl0”-sin30”-sin50"- sin 70° = ).

(b) Using Law of tangents, solve the A4BC inwhich a=36.21; c= 30.14 ; p=T7810

2
. 41 - . ) )
9 @) If cosect = 1"_2_,._ m>0;0<l< 7"2 _ then find the values of remaming trigonometric
m

functions.

)+ tan™ (%): %
1128 - 1124 - 11000

(b) Prove that 2tan”™ (}
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1123 Warning:- Please write your Roll No. in the space provided and sign. Roll No

( Inter Part-1) (Session 2019-21 o 2022-24) Sig. of Student  ---—vereeeeeeen
Mathematics{Objective) Group I Paper (I)
Time Allowed:- 30 minutes PAPER CODE 2193 Maximum Marks:- 20

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question nurnber. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or

white correcting fluid is not allowed.

5 5 Q.1
akcity.or %o
1) No term of geometric sequence can be: D@.E ty 9 p:

(A) Zero ‘B) 1 )2 (D) 3
2) Multiplicative inverse of —i is ©<§®

(A) i B) —i @0 (D) -1
3) A function f: A— B is surjective if: O%

(A) Range f=A ‘B) Range of f %S (C) Range f # A (D) Range f# B
4) The co-factor of an element a;; dc@@ |

(A) (1) M;; "M (C) (-1)™ M;; (D) (1) My
5) For a non-singular matpf fAX = B,then X = ____

(A)A'B (B) BA™ () (AB)” (D) (BA)"
6) The polynomial 3x” +22x +1 has degree:

(A) 0 B)3 (C)2 (D) 4
7) A quadratic equation ax’ + bx + ¢ = 0 becomes linear equation if:

(A)a=0,b#0 B)c=0a=#0 Ca+0,b=0 D)a=b=0
8) Any improper fraction can be reduced to a mixed form by:

(A) Addition (B) Multiplication (C) Division (D) Factorization
9) If a,_3 = 2n —5. Then 7th term is:

(A) 9 (B) 11 ©) 15 (D) 13

P.T.0 1117 - 1123 - 11000 (2)
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s ( 2 )_
1 s :
10)If cosx =7 . Then reference angle is: c@ pa kclty_org %p
/s ﬂ’ z ) D) X
*) 2 (B) 7 © 3 D) 3
11) The value of 4! 0! 1! is:
(A) O (B) 1 ©€)a (D) 24
12) "C, equals:
(A) P, B) *¢, ©) "c, () i
13) In expansion of (a+b)7, the 2nd term is:
:
(A)a (B) 7ab (C 76 ’ (D) zero
14) The sum of even co-efficients in the Binomial nof (1 + x)™ is equal to:
(A) 2™ ®) 2™ %@ {20 (D) 2™1
15) One radian is equal to: @@
(A) 57.296° (B) 877 (C) s6° (D) 0.0175°
16)
If sinx _ cosx T pil
(A) 30° (B) 0° (C) a5° (D) 60°
17) Range of cotagent function is:
(A) N B) Z €) R (D) C
18) If AABC be any triangle and y = 90°. Then:
(A) c? = a? + b? (B) b? = a? + ¢? (C)a* = b*+c* (D) a2 +b%2=0
19) b* + ¢ — 2bc cosa equal to:
(A) & (B)0 (C) a? (D) b?
20) cos (2 sin™ x) is equal to:
(A) Y1+ (B) y1-x2 ©) J1+2x2 () 1~25

1117 -- 1123 -- 11000 (2)
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1123  Warning:- Please, do not write anything on this question paper except your Roll No.

Mathematics (Subjective) (Session 2019-21 (o 2022-24) Paper (I)
Time Allowed: 2.30 hours (Inter Part-1) Group I Maximum Marks: 80
Section ——-—--— 1|
2. Answer briefly any Eight parts from the followings:- 8 x2=16
(i) ShowthatVz,,z, €C, 7;2; =7;7;. D% pakcity.org %D
@) Simplify by justifying each step —g—rf——' (iii) Write down the power set of the set {+, —-,><,‘+}
b d
(iv) Provethat pV(~pA ~q) V (pAqQ)=pV(~pA~q)
(v) Ifa,bareelements of a group 'G'then show that (ab)™* = b~ 'a™?
; : 2 0 x},)1 x y1 4 -2 3
vi -
o) Findzandyif [5 ) G2t 5 2HE 2
1 2 0
(vii) If A=[q; Jr]3x4 then show that Aly= A (viii) IfA=| 3 2 —1| Show that A-A'is Skew Symmetric.
-1 3 2
(ix) Evaluate w?® + 0w?® + 1 (x) If a, B are roots of * 20,2%+4=0 Find value of a?-p?
(xi) For what value of ‘m’ will the roots of equation (1 + m)x @‘- { 3m)x+ 1+ 8m =0 be equal
(xii) Solve the system of equations (x — 3)> +y2 =5 N @}O-I- 6
. Answer briefly any Eight parts from%@owings:— 8 x2=16
2 — —
(i) Without finding unknown constants; wité partial fraction form of e > i
A\ (x=2)(x* +7x+10)
(i)  Write 21st and 26th terms sequence whose general term is (~1)"*?
(iii)  Find the 18th term P if its 6th term is 19 and 9th term is 31.
(iv)  How many terms of the series -9-6-3+0+...... amount to 667
v) If i , %,% are in G.P, show that common ratio is + Jé .
. x  x? _ 2(y-1)
(vi) Ify=1+45+—+- thenshow thatx =——
(vii)  Write 32~ in the factorial form.
(viii) Find the value of n when ''P,=11.10.9
(ix)  Inhow many ways can 4 keys be arranged on a circular key ring?
(x) Show that - ;2“ represents an integer forn=2, 3.
p X i . : 2\10
(xi)  Find the term independent of x in the expansion of (x - ;) :
(xii)  Use binomial theorem to find the value of /31 to three places of decimal.

1118 - 1123 - 11000 P.T.O
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4. Answer briefly any Nine parts from the followings:- 9 x2=18
(i) What is the length of the arc intercepted on a circle of radius 14 cms by the arms of a central angle of 45°

(i)  Verify that sm' E +5sin? = 3 +tan’? ; =2, c@ pakCIty org @‘7

(iii)  Prove the identity (sec@ + tan@)(secf — tanf) = 1

(iv) Ifa,p,yarethe angles of atriangle ABC then prove that cos( ) sm
cos B°-sin 8° _ o _

(v) Prove that gy xtan 37° (vi) Express sin 80 — sin 40 as product.

(vii)  Find the period of tan =

(viii) A kite flying at height of 67.2 m is attached to a fully stretched string inclined at an angle of 55° to
the horizontal, Find the length of the string.

(ix)  Find the smallest angle of the triangle ABC when a=37.34, b=3.24, c = 35.06.
(x) Find r; and r; if measure of the sides of triangle ABC are 51‘346E ! 20, c=42,

(xi)  Prove that tan™1- + tan % = tan™? 199
(xii)  Find the solution of the equation sin x = — {3 O%v@j)es in [0, 2m]
(xiii)  Find the value of @ satisfying equation 2si §inf = 0in [0,2x].
s T
Note: Attempt any three questions. @ (10 x 3=30)
x 11 1 O
1 x 1 A
5. (a) Show that {1 x+3)(x=1)
1 X

(b) Solve the following system of equations 12):2 LIy =¢
2x" +7xy=60
X
(x=a)x-b)(x-c)
(b) How many numbers greater than 1000,000 can be formed from the digits 0,2,2,2,3,4,4?

7. (a) Sum the series 2+(1 — i) + G) +...... to 8 terms.

6. (a) Resolve into partial fractions

10
(b)  Find the coefficient of ; x* in the expansion of [x} - 21]
X

8. (a) Provethat sin®0 + cos®0 = 1 — 3 sin?6 cos?8

(b) Ifa+p +y =180° show that cota. cotf + cotf.coty + coty.cota = 1
9 (a) Find the measure of greatest angle, if sides of triangle are 16 , 20, 33.

(b) Provethat sin ,[_5_) + sin '[—7-J =cos”! (35_3]
13 325

25
1118 -- 1123 -- 11000
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1123 Warning:- Please write your Roll No. in the space provided and sign. Roll No

(Inter Part—1I) (Session 2019-21 fo 2022-24) Sig. of Student  --e-e-memeeemmme
Mathematics (Objective) (Group-II) Paper (I)
Time Allowed:- 30 minutes PAPER CODE 2194 Maximum Marks:- 20

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet #hd fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or

white correcting fluid is not allowed.

< = Q.1
1) If -}; , : . st H.P, then & equals. D@ pakcity.org %‘D

2k+1" 4k-1
(A) 3 (B) 4 ©2 D) 1

2) The real part of 1:—?‘ equals @
(A) 2/4 ®) 3/, © 1 @@ (D) 2

3) The conjunction of two logical statements p and q é&{@e@ by:

(A)pAg B)pvg @p—*q D)p-q
4) Let A= [a; ,-] x4’ then number of elements .
(A) 3 ®s 7 ©7 D) 12

5) If ‘A’ is a symmetric matrix, t will also be

(A) Hermitian w Hermitian  (C) Symmetric (D) Skew Symmetric

6) ‘x—1" isafactoro

(A) x> +4x+3 (B) x* +4x-3 ©) x*+4x+5 (D) x* +4x-5
7) If the roots of equation ax’ +bx + ¢ = Oare real and equal, then 5 —4ac will be

(A) O (B) a C)b (D) ¢
8) The proper rational fraction is

(A) x?+1 (B) x © x? (D) x? 43

(x=1Xx-2) (x=1)(x-2) (x=1)(x-2) (x=1)(x-2)
gy [T 30 iy Msbuwesiiaand, iichnwill b equal
a™ +pm . s 11l be eq to.
(A) 0 (B)2 ©1 (D) 3

P.T.0  1117A -- 1123 - 11000 (2)
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10) Solution of cot 8 = 713_ in Ist quadrant will be. C‘@ pak(:ity.org %n
DA ®) 7 ©) %, ©) %

11)-1f A and B are two independent events, then P(A NB) will be.

P(A
(A) P(A)+P(B) B P -P(B)  (©)PA)-P(B) (D)F((“B_;

12)If *C,, = "Cg , then n equals.
(A)8 (B) 12 (C) 16 (D) 20

13) The sum of odd co-efficients in the expansion of (1 + x)™ is equal to.

(A) 2 (B) 2™ (C) 3" @(@ (D) 4™

14) 2™ term in the expansion of (4 — 3x) 2 is O@)
3 3x 2 @ 3x 3x
A) = B) -= Ry - = (D) =
2 2 © 4 4
15) Sin* /e + S in?™/3 + tan?T/ io.
(A) 2 §); (©)3 (D) 4
e .
16) 1—2—2—2—6 will be equal t
(&) sinf (B) Cosé © Cos28 D) sin26
17) Period of Cot X/, is
A) /> (B) 2m €) 4n (D) =
S
18) N ™ o is called
(A) Cosines law (B) Sines law (C) Tangentslaw (D) Halfangle law

19) In equilateral triangle having side 3, ‘R’ will be euqal to
(A) 2 (B) 2v3 ()3 (D) V3
20) The value of Sin (Cos™'x) equals

(A) xy/1+ x? (B) xyJ1—-x2 ©) Jy1-—x2 (D) Vv1+x?
1117A -- 1123 -- 11000 (2)
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1123 Warning:- Please, do not write anything on this question paper except your Roll No.

Mathematics (Subjective) (Session 2019-21 to 2022-24) Paper (I)
Time Allowed: 2.30 hours (Inter Part-I) (Group-II) Maximum Marks: 80
Section -~—-=messeemmmmae I
Answer briefly any Eight parts from the followings:- 8 x2=16

U
(i)
(iv)
v)
(vi)

(viii)

(ix)
(x)

(xi)

(i)
(iii)
(iv)
)
(vi)
(vii)
(viii)
(x)
(xi)
(xii)

Define additive identity and additive inverse properties of real numbers. c% pakc;ty org %‘9

Prove V3 is an irrational number. (iii) Define Aristotlian Logic.

Write converse and inverse of ~p = q.

Give the table for addition of elements of the set of residue classes modulo 4.

Define rectangular matrix with example. (vii) If A=[i i ] , find its multiplicative inverse.

§ —2 5
IfB=|3 —1 4| findBy,and By <§®

-2 1 =2

Find two consecutive numbers whose product is 132
If @, are the roots of x> —px —p—c =0 P t(l+a)(1+ﬁ)—1—c
Define Remainder theorem. (xii) Fmd roots of 625.
Answer briefly any Eight parts @) e followings:- 8 x2=16

Resolve ﬁ into partial fracti ) If S,, = n(2n — 1), then find the Arithmetic series.

How many terms of; ’ries -7+(-5)+(-3)+.... amount to 65?
Insert two G.Ms between 2 and 16.

Find A,G,H if a=-2, b=-8, G<0 and verify that A<G<H.

Find the sum of the infinite geometric scnes + + ;;g -

How many ways can 4 keys be arranged on a c1rcular key ring.

Find the value of ‘n’ if "Cg="C); (ix) Define Sample Space and Events.

3
Show that T—— represents an integer for n=1,2.

10
Find the term independent of ‘x’ in the expansion of (x —;) :

Expand (1 — x) > upto 4 terms.

1118A - 1123 - 11000 P.T.O
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~(2) - .
4. Answer briefly any Nine parts from the followings:- 9 x2=18
@) Convert the angle 8 = 21.25 6" to D°M' S" form. (ii) Define angle in standard position with figure.
(i)  Verify cos20 = 2cos*@ — 1.when 6 = 30°,45".
. tana+tanf __ Sin(a+p)
(iv)  Show that tana-tanf  Sin(a—p) _
v) Express cos (x+y) sin (x-y) as sum or difference. .
(vi) By using fundamental Law of trigonometry, show that (sin >+ a) = cosa.
(vii)  Find the period ofsing. (viii) Solve the triangle ABC in which y = 90" a =3.28 b =5.74.
(ix)  Thearea of triangle is 2437, if a=79 ,¢=97 . Then find angle S.
(x)  Find the area of the triangle ABC, b=37 c=45 a = 30°50’
(xi)  Evaluate without using calculator, cos™*(— %) (xii) Solve sir@os x = 1 where x € [0,2m].
(xiii) Define Trigonometric equation. (@
Section ---Z@I
Note: Attempt any three questions. (10 x 3=30)
2 1 0
5. (a) Findinverseof A=|1 1 0fa @,. that A™14 = I,
2 -3 5

(b) Ifa,p arerootsof px? % = 0 then prove that J;‘;- + \E + J-E; = 0.
6. (a) Resolve to partial fractions.

(b) Prove that "C+"C,., = ™!C,.

=iy 422,83 : 3 —
7. (a) Hy=sx+5x Ly il — and if 0 < x <2/, then show that x = Prre
10
(b)  Find the coefficient of x5 in the expansion of (xz - 5—}
X
8. (@) Show that the area of a sector of a circular region of radius 7 is -;-rze , where @ is the
circular measure of the central angle of the sector.
P inZsin®EsinZsind® = 3.

(b) Prove that singsin s sm3 sin— = -
9 (a) Provethat: abc(sina + sinf + siny) = 4As.

(b) Prove that; 2tan-! X ftan2ri=X

3 7 4

1118A - 1123 - 11000

c@ pakcity.org %o




Please visit for more data at: www.pakcity.org

Sargodha Board-2021

1121  Warmning:- Please write your Roll No. in the space provided and sign.  Roll No

( Inter Part —1I) (Session 2017-19 fo 2020-22) Sig. of Student  ——-——memeeeeeo
Mathematics (Objective) (Group 1) Paper (1)
Time Allowed:- 30 minutes PAPER CODE 2193 Maximum Marks:- 20

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or

white correcting fluid is not allowed. 3 : % Q.1
1) AMbetween V2 and 3v2 is u@ pakcity.org %o
2 o 5
A C) = D) —
A4) V2 ®) 3v2 © 5 ©) =
2) Which of the following is an irrational number?
[68 Ji6 4 JT
A) .|— B) — C) = D) .|—
(A) = (B) = © 7 D) =
3) IfasetS has 5 elements, Then number of improper subs@
(A) 1 (B) 15 (©) (D) 32

1 2 4 ©
6

4) The co-factor Ay; of the matrix | —1

38

) 0 ® 4 S ©1 D) 2
1 2 0
5) The matrix {0 1 1
00
(A) Diagonal (B) Scalar (C) Triangular (D) Singular
6) The quadratic equation ax” + bx + ¢ = 0 becomes Linear equation if
(A) a=0 (B)b=0 (C)c=0 (D)a=b
7) If @ is complex roots of unity, Then value of (3+@)(3+@*)=
(A) 6 (B) 7 )9 D) 13
G = 4 + B , Then value of B is
(x+3)(x+4) x+3 x+4
(A) 3 B) -3 €4 (D) -4
9) G.M between 1 and 16 is/are
(A) 4 (B) -4 (C) +4 (D) i‘z

P.T.O 1133 -- 1121 ALP -- 28000 (2)
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~-(2)- ¢ .
10) Solution of the equation cosx =—1 in[0,27]is %Pakmty-org;%n
- 7 T
wpy e efrd o
11) (=1)", neN is a/an
(A) AP (B) G.P (C)H.P (D) Series

12) A die is rolled, The probability of getting 3 or an Even number is
1 1 1 2
e B) = B ey D) =
W) ®) 3 © 5 =

13) Middle Term (8) of (a+b)'' is/are
(A) 6™ (B) 5" & 6" ) 6" & 7" (D) 5"

<)

1
14) 2sin45° +— 45° =
) 2sin45" + 2cosec @
2
- - D) =
(A) 1 (B) -1 ©% \ﬁ ® 75
15)If tand >0 ,sind <0, Then termi@ of the angle @ will lie in quadrant
(A1 < (C) I (D) IV
16) If a =30°, then value
(A) 0 B)1 ©3 (D) =
17) The period of cosec 10x is
T 2r 4z T
— i O)Y.S% i =
(4) 1 B - ©) 5 ()S
18)If @ , B and y are the angles of an oblique Triangle, then it must be true that
(A) a=90° B) p=90" (C) y=90° (D) No angle is 90°
19) In any Triangle ABC, with usual notations, .a =
2sina
(A) A B)r (C) 2R (D) R
20) sin{sin"(-l-n =
2
1 - r
- o = z
) 3 ®) © 3 ©) %

1133 -~ 1121 ALP -- 28000 (2)
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1121 Warning:- Please, do not write anything on this question paper except your Roll No.
Mathematics (Subjective) (Session 2017-19 fo 2020-22) Paper (I)
Time Allowed: 2.30 hours (Inter Part-I) ( Group I) Maximum Marks: 80
Section -=---e=memmmmmmun 1
Z: Answer briefly any Eight parts from the followings:- 8 x2=16
(i) Prove that 1—27 —% == 2;6‘ 10 (i) Simplify (5, -4)(-3,-2) c@ pakcity.org %e
(iii) Find the multiplicative Inverse of 1—2i. (iv) Show that the statement P — (pv q) is tautology.

)
(vi)

(vii)

(ix)
(xi)
(xii)
8.
()
(i)
(iit)
(v)

(vi)
(vii)
(viii)
(ix)
(xi)

Find the inverse of the relation {(x, |y =4dax, x2 0}
Ifa, b are elements of a group G. then show that (ab)'=b"'a"
6 7 8
) | x+3 1 2 1 — .
Find x and y if . 5 (viii) Without expansion show that 3 4 5/=0
y -_—

-3 ~3
2 3 4

If A=|0 -2 0], find Aj;and Ay (x) Evalu@& fo-ow*)t
-2 -2 1 5
If a, /3 are the roots of the equation 3x” — <7, find the vaiue of &’ + f

[1 2 —3'

Show that the roots of equation px” — —q = 0 will be raticnal.

Answer briefly any Ei i:);from the followings:- 8 x2=16

Write only partial I Form of .’ﬁ::_t:li without finding constants
x'+x+

Resolve ﬂj— into Partial Fraction.

(x+3)(x+4)
If the nth term of an A.P is 3n-1 Find the A.P (iv) Find the 5" term of the G.P 3,6,12,..

s ; ; y 2
Find the sum of an infinite geometric series % - % +1 +§ +oe

If the numbers £ . .. and L are in Harmonic Sequence, find &
k ~ 2k+1 4k -1

Write (n + 2)(n + 1)(n) in the Factorial Form

How many 3-digit numbers can be Formed by using each one of the digits 2,3,5,7,9 only once?

If"C,="C,,, findn (x)Prove the Formulal1+5+9+...+ (4n-3)=n(2n-1)Forn=1,2

Calculate (0.97)° by means of binomial theorem. (xii) Expand (4——3x)% upto 4-terms

1134 -- 1121 ALP -- 28000 P.T.O
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4. Answer briefly any Nine parts from the followings:- 9 x2=18
(i) What is the circular measure of the angle between the hands of a watch at 4’0 clock?

(i)  In which quadrant the terminal arms of the angle lie when sec 8 <0 and sin 8 <0

_igacd
i) Prove that cos?0—sin? 0 = -2 % (i) Find the value of tan (1110)°
I+tan® @
(v)  Provethat 1+tanatan(2a) = sec(2a) (vi) Show that cot(a - f) = cotacotf+1
cot f—cotex

(vii)  Find the period of cos(2x) (viii) Find the value of tan19°30’
(ix)  Find the area of the triangle ABC given three sides: a=32.65,b=42.81,c=64.92
(x) Find the value of rif a=34 ,b=20 and c=42

(xi)  Without using table/calculator Prove that tan™ (5/12)= sin™ )

(xii)  Find the value of @ satisfying 2sin’ @ —sin@=0: 0 <§2 7]
O

(xiii) Find the solution of cosec =2

N
%@- ------ - 11
Note: Attempt any three questions. @ (10 x 3=30)
x 1 11

K

X

5. (a) Show that:

11
(b) Show that the roots of x> + (mx + ¢)* = a’ will be equal if ¢* = &’ (1 +m?)
6x’ +5x* -7
2x* —x -1
(b) The sum of 9 terms of an A.P is 171 and its eighth term is 31. Find the series.
7. (a) Provethat "C,+"C,, = "C,

6. (a) Resolve into partial fraction

(b) Use mathematical induction to prove that the formula 1+ —% + % Fis +527 = 2[1 —Ln:' is true for
every positive integer n.
8. (a) Prove that sin® @ —cos® @ = (sin? @ —cos’ 8)(1 -sin® @ cos? 6)
sin@ +sin360 +sin 50 + sin 70
= tan40

cos @ + cos 30+ cos 50 +cos760
9 (a) Provethat abc(sina +sin f+siny) = 4As

(b) Prove that sin"'[i] + sin"[j—) - cos"'[g]
13 25 325

1134 -- 1121 ALP —- 28000
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1121 Warning:- Please write your Roll No. in the space provided and sign. Roll No -

( Inter Part —I) (Session 2017-19 to 2020-22) Sig. of Student  -------eemmmmms
Mathematics (Objective) Group IT Paper (I)
Time Allowed:- 30 minutes PAPER CODE 2198 Maximum Marks:- 20

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question. Writt PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or

white correcting fluid is not allowed.

. 4 Q.1
1) Partial fraction of . will be of the form 9@ pakcity.org %o

(x+1)(x*-1)

(A) _zi_+Bx+c B) A ) _A_, B +c.:.:+1[:1 (D) A +Bx+C

x+1 x*-1 x+41 x+1 x-1 (x+1)

2) Arithmetic mean between a and b is

a-b 2ab @ a+b
&) — (B) ++/ab © = =

3) If a,=(-1)" (2n-3) Then as=

e
(A) 7 (B) -7 %g(@ C) 13 (D) -13
>

4) Multiplicative inverse of —i is @

(A) i (B) =\ ¢ ©) 1 (D) -1
5) Tabular form of {x|xe x <6} is
@A) {} B) {4} ©) {6} (D) {4,6}
i 4 -2
6) If A={0 0 .6 |then A=
6 7 4
(A) -1 (B) 1 (C)-2 (D) 0
7) A matrix of order /x n is called
(A) Row matrix (B) Column matrix (C) Diagonal matrix (D) Null matrix

8) If one root of equation x” + px+¢ =0 is additive inverse of other, then

(A)p=-1 B)p=0 ©)q=1 D)q=0
9) If o is cube root of unity, then @+ @’ =
(A)0 (B) -1 ©)1 D) 1
@

P.T.O 1133A -- 1121 ALP -- 25000 (4)
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10) In any Triangle ABC, with usual notation, Z— B
+c

tan ——‘B i unZtY ;7
(A) (B) =
ﬂ By unl =L
2 2
11) Value of sec {sm ‘—?]z
A = (B)2
2
12)If Sin x = Cos x then x =
(A) 45° (B) 30°
13) G.M between 27 and 8i equals
(A) +4 (B) 5

14) For independent events P (4N B)=
(A) P(4)+ P(B)

15) Expansion of (1- 2.?:)M is valid ig?

x|<'%

(A) |x|<1

16) Cot’6—Cosec’ 8 =
(A) 1 B) -1
17) Cos(-60°) =

1 1
A) 5 B) -7

18)Cos2 a =

(A) 2Sin’a -1 (B) 2Cos’ r -1

19) Period of Cot 8 x is

(A) 87 ®) =«

20) Cot <=
2

s(s—¢) ) s(s _S(s-a)
@ oone-a P \e-e-9

1133A -- 1121 ALP -- 25000 (4)

il B Y

an =7

2
© L

V3
154 Yo
()2

© o

© @@@

e

(B) P(4)-P @Q (C) P(A4).P(B)

(©) x]<2

(C) 0

V3
© 5

© 2Cos iz-SirfPi
2 2

© =
4

(s-b)(s—c)
s(s—a)

oé{ pakcity.org %o

an 2B
2

D) =7 "
2

DO 7=

S5

(D) 60°
(D) +4i

24

®) ey

1
(D) |xJ<"2*

(D) 2

5
D) —v=
()2

(D) 1-2Cos*a

D) =

s(s—a)
B) V (s-b)(s—c)
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1121 Warning:- Please, do not write anything on this question paper except your Roll No.
Mathematics (Subjective) (Session 2017-19 to 2020-22) Paper (I)
Time Allowed: 2.30 hours (Inter Part -I) Group II Maximum Marks: 80
Section ——————-1
Z Answer briefly any Eight parts from the followings:- 8§ x2=16

()  Find the multiplicative inverse of (-4,7) (i) Show that Vz,,z,€C, z,+z, =z1+ 2>

iy  Find the difference of the complex numbers (8 , 9)and (5, -6) 0@ pa kcity.o rg %ﬂ'
(iv) Show that the statement (pAq)— pis a tautology (v) If A={a, {b, c}}, then find P(A).

(vi)  Write the set builder notation of the set. {0,+1,+2,... 1000}

(£3 : Z a e 4 l;v 3

=1*Ba+l) (ix) IfA=|7 3 G_I is singular. Find the value of 1

a a a+ | 2
| @@@

(x) Evaluate (1+0-0?)* S

g Quadratic formula.

(viii) Showthat| a a+/ a

(xi) Find the roots of the equation: 16 x* +8x+1= "‘S“

(xii) By using remainder theorem, find the re &,E."' er when the polynomial x* +3x+7 is divided by x+1

< Answer briefly any Eig -@om the followings:- 8 x2=16

(i) Resolve into Partial Frs S,

9

(ii) Write into Partial fractions without finding the constants ——————
(x+2)"(x-1)

(iii)  Find the indicated term of the following'sequence 1, -3, 5,-7,9, -11, .......... o ligs

(iv)  If the nth term of the A.P is 3n-1, find arithmetic progression.
(v) Find the 12th term of the geometric sequence 14,27 ,-2+2 i ,===----

(vi) If the numbers L __ 15,7 — L are in harmonic sequence, find k.

k’ 2k +1 4k -1

(vii) Evaluate ' p,. (viii) Inhow many ways can a necklace of 8 beads of different colours be made?

(ix)  Find the value of n, when "C;="C, (x) Calculate by means of binomial theorem (0.97)°
(xi)  Expand up to 3 terms (1 - x)}é

(xii) If x is so small that its square and higher powers be neglected, then show that (IU 4 +)’§ ~24 27'5“ x
-

1134A - 1121 ALP-- 25000 P.T.O
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(iii)
(iv)
v)

(vii)

(ix)
(x)

(xi)

Sargodha Board-2021 : . :
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Answer briefly any Nine parts from the followings:- S 9 x2=18

Convert 54° 45’ into radians
Verify sin?| Z |+ sin?[ Z |+ Mn’(£J=2
6 3 4

Prove that cos* @ —sin* @ —cos’ @ -sin’8 YO € R.

Without using tables write down the value of cos315°

sin 4A+sin 24

Prove that tan (45 + A)tan (45 — A)=1 (vi) Prove that =tan 4
l1+cos A+Cos2A4

Find the period of 3 cos [?] (viii) Find the value of Cot 89'9

Find the arca of A ABC having a= 200, b=120, y =150°
In AABC if a=13,b=14,c =15 find R

Show that sin ™' (-x)= -sin ™' (x) (xii) Solve the equation sinx =-,];

£

(xiii) Find the solutions of sinx = —i; which lie in [0, 2@5&
. O

Sectio N - 11
Note: Attempt any three questions. @ (16 x 3 =30)
3x, +x, -x;, =4
5. (a) Use cramer’s rule to solve the@@of Equations x, +x, —2x, =-4
O Ty <lp X =1
®) ind the values of p and q if x+1 and x-2 are the factors of the
. K : 9x -7
6. (a) Resolve into Partial fractions ————
(x" +1)(x+3)
(b) If the (positive) Geometric Mean and Harmonic Mean between two numbers are 4 and
% , find the numbers.
7. (a) Provethat "C +"C,_, ="'C,
3 10
(b)  Find 6th term in the expansion of (x’? - 5—)
X
8. (a) [f sind = —-Jl—— and the terminal arm of angle is not in quad. III Find the values of remaining
trigonometric functions.
(b) Prove that SNMGSED tan 26 tan &
cos@+cos 30
9. (a) Provethatr=4R Sin-g— ang Sin—;— (b) Prove that 2tan "%+ tan"-%——-%:—

1134A -- 1121 ALP -- 25000
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1119 Warning:- Please write your Roll No. in the space provided and sign.  Roll NO---memrmmccaecaaee
( Inter Part - 1) (Session 2015-17 o 2018-20) Sig. of Student  ---se-cemeceeens
viathematics (Objective) Paper (I)

ime Allowed:- 30 minutes PAPER CODE 2191

Maximum Marks:- 20

iote:- You have four choices for cach objective type question as A, B, C and D. The choice which you think is correct; fill
1at circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
«sult in zero mark in that question. Write PAPER CODE, which is printed on this question paper, an the buth sides of the
nswer Sheet and fill bubbles accordingly, otherwise the student will be responsiblc tor the situation. Usc of ink Remover or

hite correcting fluid is not allowed.
1) The muitiplicative inverse of 1-2i is

s@ pakcity.org %DQ

(A) 1+2i (B) -1+2i €y 1-2i
5 s s
2) The number of identity elements in a group is
(A) Finite B)2 )3
o
3) The matrix l ] is
0 0
(A) Null matrix (B) Identity matrix

(C) DiagonafKmatrix
@@@

&) i

4
4) If lf K' =0. Then value of K is

(A) £16 (B) 0
5) The product of roots of the cquation 3 } 0 is
(A) -4 ®: (©)0
3 N\ O

6) When P(x)=x" +4x? - is divided by (x -1), remainder is

(A) 10 (B) -10 ©)8
7 If 2x+1)=A(x+1)+B(x+2), then 4= __

(A) 3 (B) 4 ©)5
8) The harmonic mean between 3 and 7 is

5 21

(A) 21 (B) ry )5
9) If A,G,H have their usual meaning, G* =

(A) H B)A (C) AxH
10)"P, =

(A) n (B) O )1

PT.O 1133 -- 1119 -- 26000

(D) 14 2i

(D) 1

(D) Sealamatrix

D) £8

(D) 4
(D) -8
(D) 1

(D) 21

D) 4/,

(D) n!

(1)
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11)If "C,, ="C,, thenn= c@ pakcity.org %o

(A) 24 (B) 8 } (C) 20 (D) 18
12) The number of terms in the expension of (1+ ) is

(A) 3 (B) 4 (C) Infinite (D) Finite
13) The sum of coefficients in the expension of (1+x)* is

(A) 8 (B) 16 (C) 32 (D) 64
14) cot? @ - cosec’@ =

(A) 2 (B) -1 (O 1 (D)0
15) m(ng’-m): ©<§®

(A) coté (B) tan@ Q @%‘) -cot @ (D) -tané
16) Domain of y =sinx is %@Q

(A) IR ®) [-@@ Oz @ 0

O ' N

17) In any triangle ABC usual notation 6 + ¢? - 2b¢ cosa =

(A) A B)0 ©) o’ D) !
18) ﬂ_‘.gc_) -

(A) sin% (B) ;in% (C) cos “/5 (D) cos %

19)tan(tan"'(1)) =
(A) 1 ®) % © % (D) 0

20) Solution of cot8 = 7‘; in [1Ird quadrant is

5
() F ® = © F (D) =

1133 -- 1119 -- 26000 (1)
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1119 Warning:- Please, do not write anything on this question pzper except your Roll No.
Mathematics (Subjective) (Session 2015-17 to 2018-20) Paper (1)
Time Allowed: 2.30 hours (Inter Part - ) Maximum Marks: 80
Section ~--ee—eeevecen- 1
2 Answer briefly any Eight parts from the followings:- 8 x2=16
i)  Check the closure property w.r.t “x” on {-1,1} (ii) Definc modulus of a complex number.
i) Find multiplicative inverse of -3 -5i (iv) Write down power set of {a,{b,c}}
v) Construct truth table for an implication. (vi) Define Semigroup.
4 i =
wvii) Find x& y if 20 = +2 L& = e 0 (viii) Find 47" if 4= “ |
1l y 3 0 2 -1} {1 6 1 6 3
fix) If A is a non-singular matrix, then show that (4')" = 4
(x)  Solve 2x* +12x-110=0
(xi) If @ iscube rootof unity and &’ =1, then evaluate o™ + @™ +1
(xii) Discuss the nature of roots of 25x* =30x+9=0 @@@
3. Answer briefly any Eight parts from the %gs:- 8 x2=16
(i) Dcfine Improper rational fraction and giv ample.
(i)  Resolve - T into partial fractio s@
; g R
tiii)  Convert an improper fr —————— into mixed form.
x(2x 4+ 3)(x~1)
fiv)  Sum the senes I. A1+ 171+ Line ity
w) Define a geometric sequence and give an example.
wvi)  Insert one real geometric mean between —2i and 8i
vii)  Find the sum of infinite geometric series 4+ W2 +2: 2%1+.....
duite ! 1 1 ; ;
viii)  If S o el harmonic sequence, find k
‘ix)  Inhow many ways the necklaces from 6 beads of different colours can be made.
X)  If1+2+4+....+2"" =2" ] then check the statement for n = 2 and n = 3 is cither true or false.
‘xi)  Evaluate (9.9)’ using binomial theorem upto two decimal places.
xii)

Sargodha Board-2019

Expand (1+ x)” upto 4 terms. g . .
c@ pakcity.org %o
1134 - 1119 26000 P.T.O
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4. Answer briefly any Ninc parts from the ﬁ{:lzltzwings:- 9 x2=18
(i) Define "right angled triangle™.
(i) What is the length of the arc intercepted on a circle of radivs 14 cms by the anns of a central angle of 45°7
(iiij)  Find the values of siné and cos® whentané = —-13- and the terminal arm of the anglc is in quad ii.
(i¥)  Prove that:cos306° +cos 234° +cos162° +cos18" =0 without using calculator
v) Prove that : sin(45” +a) -T(mna+cosa) (vi) Prove the identity QS-E—%:—::—% = 1a nf‘_gf_’_ tan a;ﬂ
(vii)  Find the period of cos -g (viii) State ‘The Law of Sincs’.
(ix)  Find the area of the triangle ABC when its sidesarc a=18,b=24,¢c=30
(x)  Show that sin™(--x) = ~sin™" x (xi) Find the solutions of the cqx%gn cot0 -7- 0 licsin [0, 27)
(xii)  Solve the equation sec’ @ =% ,0¢[0,27)
(xiii) When the angle between the ground and the sun @%ﬁag pole casts a shadow of 40 m long. Find

the height of the top of the flag. @......._ .

Note: Attempt any three questions. (10 x 3 =30)

S. (a) Show that the set { l,w, mz} @’ =1, is an abelian group w.r.t. ordinary multiplication.
O

(b) If 3n?+2n+1 bentht

6. (a) Show that

he series, find the sum to 2n terms.

(b) Find values of n and r when *”'C, ,:"C,:"*'C,,, =3:6:11

2
7. (a) Solve the equation (x —l) + 3[:( + l) =0
x x

10
(b) Find the coefficient of x* in the expenssion of (x’ - ?3-]
X

1

(a) Prove the identity —r— 25’

14sin@ 1-sin@

(b) If a,p,7 are the angles of the triangle ABC, show that

cot%ﬂ:ot %+cot %=cot % cot % cot %

(a) Provethat 7 =2 with usual notation  (b) Show that tan(sin™ x)=

L1 1

1-x

1134 -- 1119 -- 26000
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( Inter Part - I) (Session 2014-16to 2017-19) Sig: of Student  -—~--ue.
Mathematics (Objective) Paper (I)
Time Allowed:- 30 minutes PAPER CODE 2197 Maximum Marks:- 20

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct: fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles ’will
result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the sitation. Use of Ink Remover or

white correcting fluid is not allowed. N Q.1
1) A quadratic equation has degree. % pakcity.org %’3
(A) 0 (B) 1 ' (€) 2. (D) 3
2) The roots of the equation x*+x—6=0 are
(A) Real (B) Equal (C) Complex (D) Irrational
3) The given form (x-4)*=x*-8x+16 is
(A) A tratl}scendenta.l (B) Cubic equation (C) An identity (D) An equation
equation

Please visit for more data at: www.pakcity.org

4) The third term of the sequence a,=(-1)"(n-7) is @@

(A) 8 (®) 4 @42 D) 4
5) Let A, G, H be arithmetic, geometric and harmo % between “a” & “b” respectively then G*=

(A) A+H ®) Jab @%5 © 4/ (D) AH

K
A © %, o %,
7) The number r is

(A) Whole number (B) A natural number (C) A rational number (D) An irrational number

8) If every element of a set A is also an element of set B, then

6) 9x8x7 isequal to

(A) 9!

(A)AcB (B)YBc A OANnB=¢ (D) AnB=B
. 1 23 ;
9) If the matrices A=[4 5 6] then 4', the transpose of A is
I 4 I 2 I 3 1 2
A) |2 5 (B)[3 4 © |2 4 D) |3 5
36 56 56 4 6

k 4
10) If the determinant 4 k’ =0 then k is equal to

(A) 16 (B0 (C) +4 (D) 8
P.T.0 1135 -- 1118 -- 22000 (4)
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1118 Waming;:- Please, do not write anything on this question paper except your Roll No.
Mathematics (Subjective) (Session 2014-16 to 2017-19) Paper (I)
Time Allowed: 2.30 hours (Inter Part - I) Maximum Marks: 80
Section I

2. Answer briefly any Eight parts from the followings:-

8 x2=16
(i) Define Recurring or Periodic decimal, Giwe one example. (ii) Factorize: o’ + 4b*

(ii) Find multiplicative inverse of "~3-5i". % pakcity.org %c,

(iv) Write { x|x€Z"-5 < x <5 } in the descnptive and tabular form.

(v) Write inverse and contrapositive of ~p - q (vi) Define (1 —1) and onto function.
+3 l 2 1
(i) Find x and  if ["i A 3y-—4] " [_3 2]
i 1 2 =3 bc ca alb
jvi_’@lf A=|0 -2 0 [findcofactors 4,, and A4, (ix) Without expansion verify that : L] -:; - 1=0
© -2 -2 1 g b E

'«

%{) State two basic techniques for solving a quadratic equatio©<g®

Txi) Solve the equation: 2x‘ —32=0 (xii) Discuss él@%ﬁ}e of the roots of 2x> = 7x +3 =0
© \

o @

% Answer briefly any Eight parts fro lHowings:- 8 x2=16
@ Write the partial fraction form of —2Xs0k ~4%

) P %\)& (x+ 1)2.

@) Write the first four terms of uence if a,-a, ,=n+2,a, =2

O
(iii) Sum the series upto 10" term 1.11 + 1.41 + 1.71 +-- - -
o

-
() If 2 g 2] and 1 are in G.P show that the common ratio is t‘[g
o a b c e

(Ec?_% Find Vulgar fraction equivalent to the recurring decimal. 1.3°4"

(vi)Find A, G,H and showthat G:=A.H if a=-2 , b=-6 (with usual notation)
(vii) Find the value of n when "P, =30 with usual notation.

(viii) Find the value of n when "C,, = "C, with usual notation.

(ix) A box contains 10 red , 30 white and 20 black marbles. A marble is drawn at random. Find the

probability that it is either red or white.
(x) Show that the formula is true for n=1, 2.

1°+3 +5 + ——===+(2n-1)’ =n*[2n* -1]
(xi) Using Binomial theorem expand (9.9)’
(xii) Expand upto 4 terms, taking the value of x such that the expansion is valid (4—3x)}4

1136 -- 1118 22000 P.T.O



